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'ECONOMICS
[ General ]
PAPER — IV
Full Marks : 45
Time : 2hours .
The figures in the right hand margin indicate mﬁrks

Candidates are required to give their answers in their
own words as far as practicable

" Hllustrate the answers wherever necessary

[OLD SYLLABUS]

GROUP ~ A

Answer any two questions : O9x2

1. Discuss three important rural development
programmes in India. 3
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3.

4.

(2)

What are the institutional sources of rural credit
in India ? Mention the necessity of rural credit
in India. 5+4

Indicate the steps to draw histogram. Draw
histogram for the following frequency
distribution : 3+6

Wages (in Rs.):  50-59 60-69 70-79 80-89 90-99
No. of Employees: 8 10 16 14 10

Wages (in Rs.)  100-108  110-119
No. of Employees : 5 2

What is coefficient of correlation ? Find the

coefficient of correlation of the following datz; : .
+
x: 50 54 56 59 60 62 61 65 67 71

y: 22 25 34 28 26 30 32 30 28 34
GROUP ~ B
Answer any three questions : 6x3

What do you mean by decentralised planning in
India ? How does decentralised process function
in rural India ? 3+3
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* 6. Findthestandard deviation from the following
data: 6
- 49, 63, 46, 59, 65, 52, 60, 54

7. What do you mean by Research Project?
Mention the steps in the preparation of a research
project. 6

8. Mention the role of agricultural sector in the
promotion of economic development in India. 6

9. Discuss the importance of rural industrialisation

. in India. 6
10. Calculate A. M. of the following : 6
Age(year)  Frequency

10-14 4

15-19 6

20-24 8

25-29 5

30-34 4

35-39 3

40-44 2

” 45-49 5

50-54 3
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GROUP-C #
Answer any three questions : 3x3

11. Discuss any two objectives of land reform
in India. | 3

12. What are the main functions of NABARD ? 3

13. What do you mean by primary data and
secondary data ? 3

14. Write about the need of rural infrastructural
development. . 3

L

15. Write down the formula to calculate weighted
arithmatic mean for a simple frequency
distribution. ; 3

16. What do you mean by cooperative farming? 3
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10-14 4
15-19 6
20-24 8
25-29 5
30-34 4
35-39 3
40-44 2
45-49 5
50-54 3
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